@ -1 +1) @ (x+1)%(x-1)
® (x=1)(x+1) @ (x-1)°
® (x+1)3

B -x+1l=xx-1)-(x-1)
=(x-1)(x*-1)
— (- 12+ 1)

Lf) =(x-1D)(%-1) = (x—1)3%(x+1)
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3xt — x2 - 25 A4E3| stoizet.

O (3x2-2)(x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2) (x+1)(x-1)

@

A=

(%)

Z| &k 6]—1351

| l-n.[

3A2
(3A+2)(A 1)
(3x2+2) (x+1) (x-1)




F oA 2 +ax-2, 2 +3x+ b9 HPFLFT -1 I, T
a, b2 & a+b2 727

A4}k x - 10122 Z42te] Hof x = 18 Y3t 0o]
Hr.

14a-2=0,14+34+b=0° a=1, b=—-4
L a+b=-3
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4x% 4 2x + 12 Y+ of

o
=

Al 8x3 — 1

&
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4.

@)-1 ® 0 @ 1 2

@ -2




5.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




6. xOf ek oF A w3 - 2x% — x4+ 27} (x +a)(x +b)(x+¢) 2 A+ES]
A, a® 4 b + 29 2?7 (H, a,b,c=A)

s OF ® 7 @ 8 ® 9

B2 —x+2=(x+1)(x-1)(x-2)
A2+ +c2=(-1)2+124+22=6




AL N = pig"r B 2SR o, ] oo e (n+
1)(m+1)(I+1)°lck. o] ], 38% +3-382 + 338 + 12] 2] ok
MNe=?

® 974 @ 1270 @16711 @ 247  ® 327

B ,

38 = x 2} 5},

382 +3-382+3-38+1=x+3x2+3x+1
_(x+1)3
_393
_133‘33

(B+1)(3+1)=16




8.

T oA 3xt—2x3-9x2 +4, 3x3-3x2—6x 2] H-FF4E FLoFH?

O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
@ (x-1)(x-2) ® (x+1)(x-1)

B

31t 243 -9x2 4+ 4
=x+1)(x-2)(x+1)(Bx-2)
3x3-3x2—-6x=3x(x-2)(x +1)
LAY (x-2) (x+ 1)




9. 32 +2ay -y’ - dy-3& RSl 5HY

O (x+y+1)Bx+y-13) @ (x-y+1)(3x-y-3)
® Griy+Da-y-3) @ @+y+1)Ex-y-3)
® (x-y-1)(3x-y-3)

3x% +2xy—y? —4y-3
=B8x-—(+3)}(x+y+1)
=(x+y+1)(Bx-y-3)




10.

A7+ ABC 9] Al 2] Ao a,b,c Atololl @ +a®b - ac? + ab? + b° -
be? = 091 PAZL 4T 1 47Hg ABCE of® HzHg ez

@ b=cel ol5H 42
@ a=cQl OIS

(FA) =a?(a+b) +b*(a+b) - c*(a+b)
=(a+b)(a®*+b*-c*) =0

A +b2=c2 (- a+b#0)

. c7F HIH O] Zojel A 7haAy
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11. % ohah4 o] Hojgerst or— 1017 % thah4 o] F& 46 4 4x

I
r
oo
=
lo,
=
o
.y
o,
g
O

Tx+ 2]tk o] % ThHA1o] T g(x

Do @1 3 2 @ 3 ®)4

B

4x3 + 4x% —Tx + 2
1
(x— 5)(4x2 +6x—4)

=(x- %) 22 (2x2 +3x-2)(2x - 1)(2x — 1) (x + 2)

& oA o] Fol (2x - 1)2(x +2) 0]
gt (26 - 1) 0B

T ogdae (2x-1),(2x—1)(x + 2)
gx)=(2x-1)+ (2x-1)(x+ 2)
g(1)=143-1=4




. AL a, b9 AHTFFE (a0 ) = HERE O], T E2 A Ho)

deA At

0B b 2 e W B g, XS oD S g =
bg+r (0<r<b)oli,
ol W, (a, b) = (b, r)7t 3ATL.

¢

ﬁr 240 9] Hj-FF4E Hot=

(1996,240) = (240, (7h)= ((7}), 12) = (12, (H}))=()

O (7h="14, (h)=2 @ (7h=12, (th)=6
® (FH=718, (H)=2 @ (7h=16, (*H)=6

1996 = 240 - 8 4+ 76, 240 = 76 - 3 + 12
76=12-6+4 0|22
(1996, 240) = (240, 76) = (76, 12) = (12, 4) = 4




a+b+c=1&WES= A A5 a, b, col ot x =a-2b+ 3¢
y=b-2c+3a,z=c-2a+3b2 |, (x*>+2xy+1)+ (> +2yz+
1)+ (2% +2zx + 1) 9] & F5H4?

® 1 @ 3 ®@s @ ® 9

~&B ~

a+b+c=19]B=2
xX+y+z=2a+2b+2c=2(a+b+c)=2
(P 420+ D)+ 02+ 22+ 1) + (2 +22x+ 1)
=x>+y?+ 22+ 2xy+2yz+2zx+ 3
=(x+y+2)°>+3

243=4+3=7




14.

T oA A, Bl H5te] (A, B} = A% + B? - ABE}
1, 2x2 = 3) - 72 A% WA A5 FTE o]
AL

D x-V2 @ x-1 @x

@ x+1 ® x+ V2

B

(x2+1, 2x2 -3} -7
=(2+1)2+(2x2-3)2-(x2+1)(24%2-3) -7
=xt+2% +1+4xt 1232+ 9-2xt + x> +3-7
=3x1-9x2 +6

=3(x*-3x%+2)

=3(x2-1)(x*-2)

=3(x-1)(x+1)(x= V2)(x+ V2)




xofl T Al ZHe] tFA] A(x) = x* —10x% +9, B(x) = x* —x3 - 7x% +
X+6, C(x) = x(x-3)( +a) - (x—3)(x* + b) + 8] AThBoF47
ojztA A W, a4 b 2] FH-2?

Ax) =x'=10x*+9=(x—1)(x+ 1)(x—3)(x+ 3)
B(x) =x*-x*-7x>+x+6
=x-1Dx+1)(x=-3)(x+2)
= chabAl o] YRR (x - 1)(x+ 1) (x - 3)
TR ] - 3.0 thol BolAA gromz
A chaale] Mookt (x - 1)(x + 1) oItk
SO C(+1) =0
L Cl)=-a+b+4=0,C(-1)=a+b+4=0
La=0b=-4%"a+b=-4




